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QUESTION NO: 1

What is the procurement element for requirements planning?

Please choose the correct answer. Response:

A. Purchase requisition

B. Purchase order

C. Procurement plan

D. Planned order

ANSWER: D 

QUESTION NO: 2

In Structure Information System which transactions allow you to analyze and edit the entire hierarchical structure of a project 
including documents, PS texts, networks, other orders, investment programs, and SD documents?

There are 2 correct answers to this question. Response:

A. Network overview

B. Order overview

C. Structure overview

D. Project structure overview

ANSWER: C D 

QUESTION NO: 3

What do you choose when creating a new network by copying an operative network?

There are 3 correct answers to this question. Response:

A. PS texts

B. Relationships

C. Milestones
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D. WBS elements

ANSWER: A B C 

QUESTION NO: 4

Which type of order is created at BOM level to cover requirements when a material shortage occurs in material planning?

Please choose the correct answer. Response:

A. Scheduled orders

B. Procurement orders

C. Planned orders

D. Stock orders

ANSWER: C 

QUESTION NO: 5

When using budgeting and active availability control, which business transactions affect the current budget?

There are 3 correct answers to this question. Response:

A. Cost element planning

B. Original budget

C. Revenues

D. Transfers

E. Supplements

ANSWER: B D E 

QUESTION NO: 6

Which of the following combination of assignment to an externally-processed activity allows you to carry out capacity 
planning for your vendors?
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Please choose the correct answer. Response:

A. Work center and planned work

B. Work center and activity

C. Activity and task

D. Work center and vendor

ANSWER: A 

QUESTION NO: 7

Your projects consist of WBS elements, several networks, and subnetworks.What are the advantages of new overall network 
scheduling (CN24N) instead of the old overall network scheduling (CN24)?

There are 3 correct answers to this question. Response:

A. Scheduling of subnetworks and subordinate internal orders

B. Introduction of a configurable level concept for the targeted selection of

C. Scheduling that takes available capacities and material availability into

D. Improve performance through the targeted selection of subnetworks to be

E. Detailed subnetwork monitor

ANSWER: B D E 

QUESTION NO: 8

Which of the available capacity leveling methods for networks/activities allows you to select a particular work center and 
display a capacity load curve that shows both the capacity requirements and the available capacity?

Please choose the correct answer. Response:

Capacity planning board

A. Work center planning board

B. Project planning board

C. Workforce planning board
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ANSWER: B 

QUESTION NO: 9

How can you distinguish between service activities and external activities while accessing the detailed information for service 
activities on the external tab page?

There are 2 correct answers to this question. Response:

A. Control key

B. Service exits indicator

C. Order unit

D. Cost element

ANSWER: A B 

QUESTION NO: 10

What is the transaction code for editing the planning profile?

Please choose the correct answer. Response:

A. OPSS

B. OPDS

C. OPSB

D. OPSC

ANSWER: C 
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